
MATHS

BOOKS - BEYOND PUBLICATION

TANGENTS AND SECANTS TO CIRCLE

Example

1. The tangent at any point of a circle is perpendicular to

the radius through the point of contact.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7Ce2H5xZtV6S


2. Use Pythagoras theorem and write proof of above

theorem " the lengths of tangents drawn from an external

point to a circle are equal . "

Watch Video Solution

3. Draw a circle with any radius . Draw four tangents at

different points . How many tangents can you draw to this

circle ?

Watch Video Solution

4. How many tangents you can draw to circle from a point

away from it ?

https://dl.doubtnut.com/l/_DbxiFMfUr8dD
https://dl.doubtnut.com/l/_10J8eQ3Yrd2p
https://dl.doubtnut.com/l/_cUkeaQraoShn


Watch Video Solution

5. In the below figure which are tangents to the circles?

Watch Video Solution

6. Draw a circle and a secant PQ of the circle on a paper as

shown below. Draw various lines parallel to the secant on

both sides of it . What happens to the length of chord

https://dl.doubtnut.com/l/_cUkeaQraoShn
https://dl.doubtnut.com/l/_NVZzfqUBMXSx
https://dl.doubtnut.com/l/_EAJIa9yMJtDw


coming closer to the centre of the circle ? 

Watch Video Solution

https://dl.doubtnut.com/l/_EAJIa9yMJtDw


7. Draw a circle and a secant PQ of the circle on a paper as

shown below. Draw various lines parallel to the secant on

both sides of it . What happens to the length of chord

coming closer to the centre of the circle ? 

Watch Video Solution

https://dl.doubtnut.com/l/_uvD86tcEprTF


Watch Video Solution

8. How can you prove the converse of the above theorem. 

"If a line in the plane of a circle is perpendicular to the

radius at its end point on the circle , then the line is

tangent to the circle " .

Watch Video Solution

9. How can you draw the tangent to a circle at a given point

when the centre of the circle is not known?

Watch Video Solution

https://dl.doubtnut.com/l/_uvD86tcEprTF
https://dl.doubtnut.com/l/_7SS1bh43PsDL
https://dl.doubtnut.com/l/_QRoZVn2171uX


10. A tangent PQ at a point P of a circle of radius 5 cm

meets a line through the centre O at a point Q so that OQ

= 12cm . Find length of PQ .

Watch Video Solution

11. Draw a circle and two lines parallel to a give such that

one is a tangent and the other , a secant to the circle .

Watch Video Solution

12. Calculate the length of tangent from a point 15 cm away

from the centre of a circle of radius 9 cm .

Watch Video Solution

https://dl.doubtnut.com/l/_LGTMDZBWiPBv
https://dl.doubtnut.com/l/_RKPtZ6Dg0D4e
https://dl.doubtnut.com/l/_2dJmjCptnNcJ


13. Prove that the tangnets to a circle at the end points of a

diameter are parallel .

Watch Video Solution

14. Draw a pair of tangents to circle of radius 5 cm which

are inclined to each other at an angle  .

Watch Video Solution

60∘

15. Use Pythagoras theorem and write proof of above

theorem " the lengths of tangents drawn from an external

point to a circle are equal . "

https://dl.doubtnut.com/l/_2dJmjCptnNcJ
https://dl.doubtnut.com/l/_JtJEHP1U0YZI
https://dl.doubtnut.com/l/_fBxbGQVCJhC2
https://dl.doubtnut.com/l/_6VJCZbG1wNly


Watch Video Solution

16. Draw a pair of radii OA and OB such that

 . Draw the bisector of  and draw

lines perpendiculars to OA and OB at A and B . These lines

meet on the bisector of  at a point which is the

external point and the perpendicular lines are the required

tangents . Construct and justify .

Watch Video Solution

∠BOA = 120∘ ∠BOA

∠BOA

17. Choose the correct answer and give justification for

each . 

The angles between a tangent to a circle and the radius

draw at the point of contact is

https://dl.doubtnut.com/l/_6VJCZbG1wNly
https://dl.doubtnut.com/l/_VuJ3Wie1IbBF
https://dl.doubtnut.com/l/_B3VP32s1mk43


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

60∘

30∘

45∘

90∘

18. From a point Q , the length of the tangent to a circle is

24 cm . And the distacne Q from the centre is 25cm . The

radius of the circle is

A. 7 cm

B. 12 cm

https://dl.doubtnut.com/l/_B3VP32s1mk43
https://dl.doubtnut.com/l/_AKLzoo9CHa2d


C. 15 cm

D. 24.5 cm

Answer:

Watch Video Solution

19. If AP and AQ are the two tangents a circle with centre O

, so that  is equal to∠POQ = 110∘ ,  Then∠PAQ

https://dl.doubtnut.com/l/_AKLzoo9CHa2d
https://dl.doubtnut.com/l/_DXZgHoronLlX


A. 

B. 

C. 

D. 

60∞

70∞

80∞

90∞

https://dl.doubtnut.com/l/_DXZgHoronLlX


Answer:

Watch Video Solution

20. If tangents PA and PB from a point P to a circle with

centre O are inclined to each other at angle of  , then

 is equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

80∘

∠POA

50∘

60∘

70∘

80∘

https://dl.doubtnut.com/l/_DXZgHoronLlX
https://dl.doubtnut.com/l/_ZbvLbsv0AOzF


21. In the figure XY and X'Y' are two parallel tangents to a

circle with centre O and another tangent AB with point of

cantact C intersecting XY at A and X'Y' at B then `angle

AOB= 

A. 

B. 

80∘

100∘

https://dl.doubtnut.com/l/_ZbvLbsv0AOzF
https://dl.doubtnut.com/l/_pkYDCaawAgsA


C. 

D. 

Answer:

Watch Video Solution

90∘

60∘

22. Two concentric circles of radii 5 cm and 3 cm are draw .

Find the length of the chord of the larger circle which

touches the smaller circle .

Watch Video Solution

23. Parallelogram circumscribing a circle is a ………………..

Watch Video Solution

https://dl.doubtnut.com/l/_pkYDCaawAgsA
https://dl.doubtnut.com/l/_w30SFuzNZ2qS
https://dl.doubtnut.com/l/_uCK7BDeS90UR


Watch Video Solution

24. A triangle ABC is drawn to circumscribe a circle of

radius 3 cm. such that the segments BD and DC into which

BC is divided by the point of contact D are of length 9 cm.

and 3 cm. respectivley. Find the sides AB and AC.

Watch Video Solution

25. Draw a circle of radius 6 cm. From a point 10 cm away

from its centre, construct the pair of tangents to the circle

and measure their lengths.

Watch Video Solution

https://dl.doubtnut.com/l/_uCK7BDeS90UR
https://dl.doubtnut.com/l/_VcP4sAQt4A2a
https://dl.doubtnut.com/l/_RQiHGrmS4AtY


26. Construct a tangent to a circle of radius 4 cm from a

point on the concentric circle of radius 6 cm and measure

its length. Also verify the measurement by actual

calculation.

Watch Video Solution

27. In a right triangle ABC, a circle with a side AB diameter

is drawn to intersect the hypotenuse AC in P. Prove that the

https://dl.doubtnut.com/l/_6rMxneUuY8Jl
https://dl.doubtnut.com/l/_OeuHHkQJyIlt


tangent to the circle at P bisects the side BC.

Watch Video Solution

28. Draw a tangent to a given circle with center O from a

point 'R' outside the circle. How many tangents can be

https://dl.doubtnut.com/l/_OeuHHkQJyIlt
https://dl.doubtnut.com/l/_CJTSwuEy73Ov


drawn to the circle from that point?

The distance of two points to the point of contact is the

same.

Watch Video Solution

29. Find the area of the segment AYB showing in the

adjacent figure . If radius of the circle is 21 cm and

 . ∠AOB = 120∘

https://dl.doubtnut.com/l/_CJTSwuEy73Ov
https://dl.doubtnut.com/l/_QJ6CohRfBVy4


(Use  

Watch Video Solution

π and √3 = 1.732)
22

7

30. Find the area of the shaded in figure , if PQ = 24cm , PR =

7cm . And QR is the diameter of the circle with centre O .

(Take π = )
22

7

https://dl.doubtnut.com/l/_QJ6CohRfBVy4
https://dl.doubtnut.com/l/_Q1AU3wjuN7Fr


Watch Video Solution

31. A round table top has six equal diesigns as shown in the

radius of the table top is 14 cm , find the cost of making the

designs with point at the rate Rs 5 per  . (Use 

Watch Video Solution

cm2

√3 = 1.732)

32. Find the area of sector , whose radius is 7 cm . With the

given angles . 

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_Q1AU3wjuN7Fr
https://dl.doubtnut.com/l/_jrsptpYPs4EK
https://dl.doubtnut.com/l/_ipnBpLmFj1JA
https://dl.doubtnut.com/l/_CWb5cIPFNgQn


33. Find the area of sector , whose radius is 7 cm . With the

given angles . 

Watch Video Solution

30∘

34. Find the area of sector , whose radius is 7 cm . With the

given angles . 

Watch Video Solution

72∘

35. Find the area of sector , whose radius is 7 cm . With the

given angles . 

90∘

https://dl.doubtnut.com/l/_CWb5cIPFNgQn
https://dl.doubtnut.com/l/_ssX6Ps5F4f15
https://dl.doubtnut.com/l/_QrbWRRmFDCxx


Watch Video Solution

36. Find the area of sector , whose radius is 7 cm . With the

given angles . 

Watch Video Solution

120∘

37. The length of the minute hand of a clock is 14 cm . Find

the area swept by the minute hand in 10 minutes .

Watch Video Solution

https://dl.doubtnut.com/l/_QrbWRRmFDCxx
https://dl.doubtnut.com/l/_rohn8ILfvplq
https://dl.doubtnut.com/l/_rhd5m9GRrUnI


38. How can you find the area of major segment using area

of minor segment ?

Watch Video Solution

39. A chord of circle of radius 10 cm subtends a right angle

at the centre . Find the area of the corresponding : 

Minor segment

Watch Video Solution

40. A chord of circle of radius 10 cm subtends a right angle

at the centre . Find the area of the corresponding : 

Major segment

https://dl.doubtnut.com/l/_Xz8EtQaGIcP4
https://dl.doubtnut.com/l/_MSfMLpTSnhvE
https://dl.doubtnut.com/l/_z8nk8KKr5lxJ


Watch Video Solution

41. A chord of a circle of radius 12 cm subtends an angle of

 at the centre . Find the area of the area of the

corresponding minor segment of the circle . 

(Use )

Watch Video Solution

120∘

π = 3.14 and √3 = 1.732

42. A car has two wipers which do not overlap. Each wiper

has a blade of length 25 cm sweeping through an angle of

 . Find the total area cleaned at the sweep of the

blades . (use )

Watch Video Solution

115∘

π =
22

7

https://dl.doubtnut.com/l/_z8nk8KKr5lxJ
https://dl.doubtnut.com/l/_EBwMKxCZQPrr
https://dl.doubtnut.com/l/_Efwmq9cHRw4e


43. Find the area of the shaded region in figure , where

ABCD is a square of side 10 cm .and semicircles are draw

with each side of the square as diameter (use ). 

Watch Video Solution

π = 3.14

https://dl.doubtnut.com/l/_DgMDixhd3jC9


44. Find the are of the shaded region in figure , if ABCD is a

square of side 7 cm and APD and BPC are semicircles . (use

 )

Watch Video Solution

π =
22

7

45. In figure OACB is a quadrant of a circle with centre O

and radius 3.5 cm . If OD = 2 cm ., find the area of the

shaded region . (use  )

Watch Video Solution

π =
22

7

46. A B and CD are respectively arcs of two concentric

circles of radii 21 CM and 7cm which center O(see figure).If

https://dl.doubtnut.com/l/_D5NOhOkv8tWO
https://dl.doubtnut.com/l/_acoel9bZqoya
https://dl.doubtnut.com/l/_7Io1FCKkE7yt


 find the area of the shaded region. ( use )

Watch Video Solution

∠ = 30∘ π =
22

7

https://dl.doubtnut.com/l/_7Io1FCKkE7yt


47. Calculate the area of the desigred region in figure ,

common between the two quadrants of the circles of

radius 10 cm each . (use ) 


Watch Video Solution

π = 3.14

https://dl.doubtnut.com/l/_HD1Hh3WWHIRD


48. Prove that the angle between the two tangents drawn

from an external point to a circle is supplementary to the

angle subtended by the line segment joining the points of

contact at the centre.

Watch Video Solution

49. PQ is a chord of length 8 cm of a circle of radius 5 cm.

The tangents at P and Q intersect at a point T (see figure).

Find the length of TP.

Watch Video Solution

https://dl.doubtnut.com/l/_MnsZP9IhaEAA
https://dl.doubtnut.com/l/_l1XcPYlBkQfA


50. Prove that opposite sides of a quadrilateral

circumscribing a circle subtend supplementary angles at

the centre of the circle .

Watch Video Solution

51. Draw a line segment AB of length 8 cm . Taking A as

centre draw a circle of radius 4 cm and taking B as centre ,

draw another circle of radius 3cm . Construct tangents to

each circle from the centre of the other circle.

Watch Video Solution

https://dl.doubtnut.com/l/_CXUBmbgZVobw
https://dl.doubtnut.com/l/_w7WChVSLar6m


52. Let ABC be a right traingle in which AB = 6 cm , BC = 8

cm and  BD is the perpendicular from from B on

AC . The circle through B , C , D is draw . Contruct the

tangents from A to this circle .

Watch Video Solution

∠B = 90∘

53. find the area of the shaded region in figure, given in

which two circles with centers A and B touch each other at

https://dl.doubtnut.com/l/_tYJ9mFGGP47R
https://dl.doubtnut.com/l/_UstCy0YFgkvM


the point C. If AC= 8cm and AB=3cm.

Watch Video Solution

https://dl.doubtnut.com/l/_UstCy0YFgkvM


54.  


ABCD is a rectangle with  and .

Taking DC, BC and AD as diameters, three semicircles are

drawn as shown in the figure. Find the area of shaded

region.

Watch Video Solution

AB = 14cm BC = 7cm

55. Find the length of the tangent from a point 13 cm away

from the centre of the circle of radius 5 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_IIuPw02JijOs
https://dl.doubtnut.com/l/_9IusQ75kb9r1


Watch Video Solution

56. Two concentric circles of radii 25 cm and 24 cm are

drawn. Find the length of the chord of the larger circle

which touches the smaller circle.

Watch Video Solution

57. Find the area of a quadrant of a circle whose

circuemference is 88 cm.

Watch Video Solution

58. Two circles touch internally. The sum of their areas is

 and distance between their centres is 5 cm. Find125πcm2

https://dl.doubtnut.com/l/_9IusQ75kb9r1
https://dl.doubtnut.com/l/_fs9esQfiLTFM
https://dl.doubtnut.com/l/_tp2KcYgfXlfZ
https://dl.doubtnut.com/l/_u5vhtdBVPzRn


the radii of the circles.

Watch Video Solution

59. find the area of the shaded region in figure, given in

which two circles with centers A and B touch each other at

the point C. If AC= 8cm and AB=3cm.

Watch Video Solution

https://dl.doubtnut.com/l/_u5vhtdBVPzRn
https://dl.doubtnut.com/l/_D4K9obNeJNMA


Watch Video Solution

60. O' is any point inside a rectangle ABCD. 

Prove that 

Watch Video Solution

OB2 + OD2 = OA2 + OC 2

61. What do we call the part a and b in the below circle?

https://dl.doubtnut.com/l/_D4K9obNeJNMA
https://dl.doubtnut.com/l/_Y8Nxi8lZTnQz
https://dl.doubtnut.com/l/_VGT9jRzT49WN


Watch Video Solution

62. How many tangents can be draw to a circle from a point

on the same circle . Why ?

Watch Video Solution

63. Draw a circle wih radius 3 cm and construct a pair of

tangents from a point 8 cm away from the centre .

Watch Video Solution

64. Construct and measuare the length of a pair of

tangents that are drawn from a point at a distance of 8 cm

https://dl.doubtnut.com/l/_VGT9jRzT49WN
https://dl.doubtnut.com/l/_bKhKcyp2KBEL
https://dl.doubtnut.com/l/_1fSNtVnWmeTn
https://dl.doubtnut.com/l/_UpyxRbQ4tQEX


whose radius is 5 cm.

Watch Video Solution

65. The length of the minute hand of a clock is 8 cm find

the area swept by the minute hand in 5 minutes.

Watch Video Solution

66. The length of the minute hand of a clock is 15 cm find

the area swept by the minute hand in 5 minutes.

Watch Video Solution

https://dl.doubtnut.com/l/_UpyxRbQ4tQEX
https://dl.doubtnut.com/l/_nkWKJK7SIafe
https://dl.doubtnut.com/l/_IY1Icy0l8HLI


67. Find the area of the segments shaded in figure, if PQ =

28 cm, PR = 8 cm and QR is the diameter of the circle with

centre O.

Watch Video Solution

68. Find the area of the segments shaded in figure. If PQ =

16, PR = 3cm and QR is the diameter of the circle with

center O.

Watch Video Solution

69. Find the area of the shaded region in the figure. If ABCD

is a square of side 7 cm and APD and BPC are semi-circles.

https://dl.doubtnut.com/l/_3FJ1x03JwLMh
https://dl.doubtnut.com/l/_zlfnMmvVR9bs
https://dl.doubtnut.com/l/_GGYyrfxm1WDM


Watch Video Solution

70. Find the area of the shaded region in the figure. If ABCD

is a square of side 8 cm and APD and BPC are semi-circles.

Watch Video Solution

71. Calculate the area of the desigred region in figure ,

common between the two quadrants of the circles of

https://dl.doubtnut.com/l/_GGYyrfxm1WDM
https://dl.doubtnut.com/l/_fyH7Ca3Jvq2V
https://dl.doubtnut.com/l/_tnNs4E33PXjs


radius 10 cm each . (use ) 


Watch Video Solution

π = 3.14

72. Calculate the area of the designed region in figure,

common between the two quadrants of the circles of

radius 16 cm.

https://dl.doubtnut.com/l/_tnNs4E33PXjs
https://dl.doubtnut.com/l/_Y1Pxxc4bLxRj


Watch Video Solution

73. A chord of a circle of radius 20 cm subtends a right

angle at the centre find the corresponding minor segment.

Watch Video Solution

74. A chord of a circle of radius 15 cm subtends a right

angle at the centre find the corresponding major segment.

Watch Video Solution

75. The circumference of a circle is 100 cm . The side of a

square inscribed in the circle is ….. Cm .

https://dl.doubtnut.com/l/_Y1Pxxc4bLxRj
https://dl.doubtnut.com/l/_nKSbPthBKSGR
https://dl.doubtnut.com/l/_4OtvBWqwqi19
https://dl.doubtnut.com/l/_8hKeLjIqRlxp


Watch Video Solution

76. If radius of circle  then find perimeter of quadrant.

Watch Video Solution

cm
7
2

77.  cm then area of sector = ………. 

Watch Video Solution

x ∘ = 60∘ , r = 14 cm2

78. The area of square is 49  then side is …….. Cm .

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_8hKeLjIqRlxp
https://dl.doubtnut.com/l/_ZHsU6RCfW3Fb
https://dl.doubtnut.com/l/_98D4eMfsB4AA
https://dl.doubtnut.com/l/_Jz0rTWQFbXr8


79. Let ABC be a right traingle in which AB = 6 cm , BC = 8 cm

and  BD is the perpendicular from from B on AC .

The circle through B , C , D is draw . Contruct the tangents

from A to this circle .

Watch Video Solution

∠B = 90∘

80. Draw a line segment AB of length 10 cm. Taking A as

centre, draw a circle of radius 6 cm and taking B as centre,

draw another circle of radius 3 cm.Construct tangents to

each circle from the centre of other circle.

Watch Video Solution

https://dl.doubtnut.com/l/_XCQk8BWkFlpZ
https://dl.doubtnut.com/l/_vxIMxzsPl6FS


81. ABCD is rectangle with AB = 10 cm and BC = 4 cm take

DC, BC and AD as diameters as shown in the figure. Find the

area of the shaded region.

Watch Video Solution

82. If raddi pf two concentric circle are 6 cm and 10 cm ,

then lngth of chord of the larger circle wchich is tangent to

other is ……….cm

Watch Video Solution

83. Two circles of radii 7 cm and 4 cm touch each other

externally. Then the distance between their centres.

https://dl.doubtnut.com/l/_KwuMseosRPJJ
https://dl.doubtnut.com/l/_gPFjBkUGk3ax
https://dl.doubtnut.com/l/_J8aTfwzAGoqw


Watch Video Solution

84. Two circles of radii 5 cm and 3 cm touch each other

internally. Then the distance between their centres.

Watch Video Solution

85. Area of the sector of a circle with radius 21 cm and

angle .

Watch Video Solution

30∘

86. A circle touches all the your sides of a quadrilateral

PQRS. Prove that

https://dl.doubtnut.com/l/_J8aTfwzAGoqw
https://dl.doubtnut.com/l/_zqnUEcKlj9gB
https://dl.doubtnut.com/l/_IKTSi6yAvzMO
https://dl.doubtnut.com/l/_XmX1B590Sg6Q


Exercise

PQ + RS = QR + SP.

Watch Video Solution

1. A tangent to a circle intersects it in ………. Point (s) .

Watch Video Solution

2. A line intersecting a circle in two points is called a ………..

Watch Video Solution

https://dl.doubtnut.com/l/_XmX1B590Sg6Q
https://dl.doubtnut.com/l/_nzMXDxxAn3xj
https://dl.doubtnut.com/l/_0gbBo3pwrhDe


3. Fill in the blanks. A circle can have parallel……………tangents

at the most.

Watch Video Solution

4. The common point to a tangent and a circle is called …..

Watch Video Solution

5. We can draw ………… tangents to a given circle .

Watch Video Solution

https://dl.doubtnut.com/l/_Ob0nxZ7XkfHT
https://dl.doubtnut.com/l/_WhKN8cSKwupv
https://dl.doubtnut.com/l/_1R1wc0csMqDD


6. In the given figure, O is the centre of the circle and PT is

a tangent at T.

If PC = 3 cm and PT = 6 cm, calculate the radius of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_AxEOnCxXoA5T


7. In the adjacent figure, Prove that BD = DC if AB = AC 

Watch Video Solution

https://dl.doubtnut.com/l/_xfWdUH3mwf0v


8. The incircle of a  touches the sides AB, BC and

CA at the points F, D and E resepectively. Prove that

Watch Video Solution

△ ABC

AF + BD + CE + DC + EA = (Perimeterof △ ABC)
1

2

https://dl.doubtnut.com/l/_umFoqeJZgenZ
https://dl.doubtnut.com/l/_8MQfxhsXtiPR


9. Find the area of a quadrant of a circle whose

circuemference is 88 cm.

Watch Video Solution

10. The minute hand of a clock is 6 m long. Find the area of

the face of the clock described by the minute hand in 35

minutes.

Watch Video Solution

11. Two circles touch internally. The sum of their areas is

 and distance between their centres is 6 cm. Find

the radii of the circles.

Watch Video Solution

116πcm2

https://dl.doubtnut.com/l/_8MQfxhsXtiPR
https://dl.doubtnut.com/l/_qrtJwUUR7Meq
https://dl.doubtnut.com/l/_K0n25ZNbqQt3


12. In the figure ABCD, find the area of the shaded region.

Watch Video Solution

13. A chord of a circle of radius 14 cm subtends a right

angle at the centre. Find the areas of the minor and major

segments of the circle.

https://dl.doubtnut.com/l/_K0n25ZNbqQt3
https://dl.doubtnut.com/l/_eLSK47u4ixD2
https://dl.doubtnut.com/l/_k5c0oKRnI1jb


Watch Video Solution

14. A circle touches all the four sides of a quadrilateral

PQRS . Prove that 

PQ + RS = QR + SP

Watch Video Solution

15. Prove that the tangents at the extermities of any chord

makes equal angles with the chord.

Watch Video Solution

https://dl.doubtnut.com/l/_k5c0oKRnI1jb
https://dl.doubtnut.com/l/_EpetXjdBVkGe
https://dl.doubtnut.com/l/_aPqPYbsrUqPj


16. Two tangents TP and TQ are drawn to a circle with

centre 'O' from on external point T. Prove that 

 = .

Watch Video Solution

∠PTQ 2∠OPQ

17. In two concentric circles, a chord of length 24 cm of

larger circle becomes a tangent to the smaller circle whose

radius is 5 cm. Find the radius of the larger circle.

Watch Video Solution

18. If 'O' is the centre of the circle. PA and PB are tangent

segments. Show that the quadrilateral AOBP is cyclic.

https://dl.doubtnut.com/l/_FGmIGUi4Svr1
https://dl.doubtnut.com/l/_4sHlvmlK3Tz6
https://dl.doubtnut.com/l/_iOLNzLwAp1Pc


Watch Video Solution

19. If  and  are tangents from an external point to a

circle with centre .  touches the circle at . Prove

that 

Watch Video Solution

PA PB

O LN M

PL + LM = PN + MN

20. In the adjacent figure, BC is a tangent to the circle with

centre 'O'. OE bisects AP.

https://dl.doubtnut.com/l/_iOLNzLwAp1Pc
https://dl.doubtnut.com/l/_RzP7dGZpLqZh
https://dl.doubtnut.com/l/_5WOZmuF3fCfp


prove that  ~ .


Watch Video Solution

△ AEO △ ABC

21. In the adjacent figure, common tangents PQ and RS to

two circles intersect at A. Prove that PQ = RS.

https://dl.doubtnut.com/l/_5WOZmuF3fCfp
https://dl.doubtnut.com/l/_P9FRqBavzqxa


Watch Video Solution

22. Choose the correct answer and give justification for

each . 

The angles between a tangent to a circle and the radius

draw at the point of contact is

https://dl.doubtnut.com/l/_P9FRqBavzqxa
https://dl.doubtnut.com/l/_XhGWnzFCuVig


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

90∘

60∘

45∘

30∘

23. From a point P, the length of the tangent to a circle is

12 cm, and the distance of P from the centre is 13 cm. The

radius of the circle is

A. 7 cm

B. 6 cm

https://dl.doubtnut.com/l/_XhGWnzFCuVig
https://dl.doubtnut.com/l/_aWPxjaV0EBEd


C. 5 cm

D. 12.5 cm

Answer:

Watch Video Solution

24. If tangents PA and PB from a point P to a circle with

centre O are inclined to each other at angle of  , then

 is equal to

A. 

B. 

C. 

D. 

80∘

∠POA

50∘

60∘

70∘

80∘

https://dl.doubtnut.com/l/_aWPxjaV0EBEd
https://dl.doubtnut.com/l/_xenxwYx9nBT2


Answer:

Watch Video Solution

25. If AP and AQ are the two tangents a circle with centre O

, so that  is equal to∠POQ = 110∘ ,  Then∠PAQ

https://dl.doubtnut.com/l/_xenxwYx9nBT2
https://dl.doubtnut.com/l/_rWhqXG7Benro


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

60∘

70∘

80∘

90∘

26. In the adjacent figure, if quadrilateral PQRS

circumstances a circle then PB + SD = 

https://dl.doubtnut.com/l/_rWhqXG7Benro
https://dl.doubtnut.com/l/_DfjjDMWtBE7h


A. SR

B. PR

C. QS

D. PS

Answer:

https://dl.doubtnut.com/l/_DfjjDMWtBE7h


Watch Video Solution

27. In the adjacent figure APB is a tangent to the circle with

centre 'O' at a point P. If  =  then the measure of 




A. 

B. 

C. 

D. 

∠QPB 50∘

∠POQ

25∘

75∘

100∘

120∘

https://dl.doubtnut.com/l/_DfjjDMWtBE7h
https://dl.doubtnut.com/l/_17nVTbGWQz4L


Answer:

Watch Video Solution

28. The length of the tangent drawn from a point 17 cm

away from the centre of a circle of radius 8 cm is

A. 25 cm

B. 9 cm

C. 15 cm

D. 8.5 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_17nVTbGWQz4L
https://dl.doubtnut.com/l/_SMaCvMhOAckn


29. In the adjacent figure, the length of the chord AB if PA =

6 cm and  is 


A. 5 cm

B. 6 cm

C. 7 cm

D. 4 cm

Answer:

Watch Video Solution

∠PAB = 60∘

https://dl.doubtnut.com/l/_c23JlyiTZsrV


30. A line intersecting a circle in two points is called a ………..

A. a secant

B. a tangent

C. a chord

D. an arc

Answer:

Watch Video Solution

31. The number of tangents that can be drawn to a circle at

any point on it is

A. 2

https://dl.doubtnut.com/l/_AC6jjJwHrsK8
https://dl.doubtnut.com/l/_oMXi6Z0wlZak


B. 1

C. 3

D. infinetly many

Answer:

Watch Video Solution

32. The number of parallel tangents that can be drawn to a

circle can have at the most is

A. 1

B. 2

C. 3

https://dl.doubtnut.com/l/_oMXi6Z0wlZak
https://dl.doubtnut.com/l/_3N6RRcqDLHK0


D. 4

Answer:

Watch Video Solution

33. How many tangnet lines can be drawn to a circle from a

point outside the circle ?

A. 2

B. 1

C. infinetly many

D. 4

Answer:

https://dl.doubtnut.com/l/_3N6RRcqDLHK0
https://dl.doubtnut.com/l/_tUcJgP8BNM0D


Watch Video Solution

34. Two concentric circles of radii 5 cm and 3 cm are draw .

Find the length of the chord of the larger circle which

touches the smaller circle .

A. 10 cm

B. 6 cm

C. 8 cm

D. 2 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_tUcJgP8BNM0D
https://dl.doubtnut.com/l/_hO9hNbHt0Svx


35. Length of the arc of a quadrant of a circle of radius 'r' is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πr

3πr

+ 2r
πr

2

πr

2

https://dl.doubtnut.com/l/_o8DRvXdJie6E


36. The length of the arc  in the adjacent figure is 


A. 11 cm

B. 22 cm

C. 33 cm

D. 44 cm

A × B

https://dl.doubtnut.com/l/_RThcYrALCJDc


Answer:

Watch Video Solution

37. The area of a sector of a circle of radius 7 cm and

central angle  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

45∘

5.5cm2

19.25cm2

154cm2

77cm2

https://dl.doubtnut.com/l/_RThcYrALCJDc
https://dl.doubtnut.com/l/_kZrJhPdC9vWa


38. In the adjacent figure, 'O' is the centre of the circle. The

area of the sector OAPB is 5/18 part of the area of the

circle. Then the value of 'x' is 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

30∘

60∘

45∘

100∘

https://dl.doubtnut.com/l/_7zFRlPaY2LLL


39. A tangent PQ at a point P of a circle of radius 5 cm

meets a line through the centre O at a point Q so that OQ

= 12cm . Find length of PQ .

A. 

B. 

C. 119

D. 169

Answer:

Watch Video Solution

√79

√119

https://dl.doubtnut.com/l/_cuPh8up8yQPS


40. The number of parallel tangents to a circle with a given

tangent is ……

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

41. The length of the tangnet draw from an ecterior point

is 8 cm away from the centre of a circle of radius 6 cm is ……

https://dl.doubtnut.com/l/_1BoyyKRxYwfJ
https://dl.doubtnut.com/l/_v3clkAnyPTuE


A. 8 cm

B. 10 cm

C. 6 cm

D. 12 cm

Answer:

Watch Video Solution

42. The semi perimeter of  = 28 cm then AF + BD +

EC is __ 

△ ABC

https://dl.doubtnut.com/l/_v3clkAnyPTuE
https://dl.doubtnut.com/l/_DlDEhfsA6L7l


A. 23 cm

B. 28 cm

C. 56 cm

D. 14 cm

https://dl.doubtnut.com/l/_DlDEhfsA6L7l


Answer:

Watch Video Solution

43. The length of the tangnet draw from an ecterior point

is 8 cm away from the centre of a circle of radius 6 cm is ……

A. 

B. 

C. 

D. 10 cm

Answer:

Watch Video Solution

2√7cm

3√7cm

√7cm

https://dl.doubtnut.com/l/_DlDEhfsA6L7l
https://dl.doubtnut.com/l/_LgVQkKAUKjQg


44. In the figure 'O' is the centre of the circle and PA, PB are

tangents , then their lenths are …… 

A. 5 cm, 13 cm

B. 13 cm, 13 cm

C. 13 cm, 12 cm

D. 12 cm, 12 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OQaALAAOEreo


45. Angle in a major segment is …..

A. an obtuse angle

B. an acute angle

C. right angle

D. none

Answer:

Watch Video Solution

46. The length of the tangent drawn to a circle with radius

'r' from a point P which is 'd' units from the centre is ……

https://dl.doubtnut.com/l/_OQaALAAOEreo
https://dl.doubtnut.com/l/_8hZaCtsKZaKn
https://dl.doubtnut.com/l/_3pfzcjQVaRKa


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√a2 − r2

√r2 − d2

√dr

√d + r

47. If the arc is a minor arc then the segment is a …………

segment

A. Minor

B. Major

https://dl.doubtnut.com/l/_3pfzcjQVaRKa
https://dl.doubtnut.com/l/_0h68thlgtiSH


C. Semi-circle

D. none

Answer:

Watch Video Solution

48. The radius of a circle is equal to the sum of the

circumfernces of two circles of diameters 36 cm and 20 cm

is ……… cm .

A. 16 cm

B. 28 cm

C. 42 cm

D. 56 cm

https://dl.doubtnut.com/l/_0h68thlgtiSH
https://dl.doubtnut.com/l/_egp8rFOIopjP


Answer:

Watch Video Solution

49. If tangents PA and PB from a point P to a circle with

centre O are inclined to each other at angle of  , then

 is equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

110∘

∠POA

45∘

50∘

70∘

35∘

https://dl.doubtnut.com/l/_egp8rFOIopjP
https://dl.doubtnut.com/l/_nTipeT5Vixqw


50. How many tangnet lines can be drawn to a circle from a

point outside the circle ?

A. 1

B. 4

C. 2

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_nTipeT5Vixqw
https://dl.doubtnut.com/l/_0wcWW2j8PRtk


51. In the given figure,  =  and OP = 10 cm. then

PA = …………..cm.

A. 5

B. 

C. 

D. 20

Answer:

Watch Video Solution

∠APB 60∘

5√2

5√3

https://dl.doubtnut.com/l/_KhEYB1fPE5ID


52. The maximum nuber of possible tangents that can be

draw to a circle is ……..

A. infinity

B. 2

C. 4

D. 1

Answer:

Watch Video Solution

53. Angle between the tangent and radius drawn through

the point of contact is ……

https://dl.doubtnut.com/l/_uDI3ndhkBMCp
https://dl.doubtnut.com/l/_EntUTgDMlQRN


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

60∘

30∘

45∘

90∘

54. If a circle is inscribed in a Quadrilateral then AB +CD=

………..

A. BC + DA

B. AC + BD

https://dl.doubtnut.com/l/_EntUTgDMlQRN
https://dl.doubtnut.com/l/_AGfwdVZHcSTq


C. 2AC + 2BD

D. 2BC + 2DA

Answer:

Watch Video Solution

55. In the adjoint figure AC = 5 , so BC = ………….cm 

https://dl.doubtnut.com/l/_AGfwdVZHcSTq
https://dl.doubtnut.com/l/_b4DtHsGQkGbn


A. 5 cm

B. 7.5 cm

C. 2.5 cm

D. 10 cm

Answer:

Watch Video Solution

56. The angle made at the centre of a circle is …….

A. 

B. 

C. 

360∘

90∘

280∘

https://dl.doubtnut.com/l/_b4DtHsGQkGbn
https://dl.doubtnut.com/l/_QC9lWUvnIRCs


D. 

Answer:

Watch Video Solution

60∘

57. The number of secant that can be drawn to a circle is

……..

A. 2

B. 1

C. infinity

D. 0

Answer:

https://dl.doubtnut.com/l/_QC9lWUvnIRCs
https://dl.doubtnut.com/l/_6wIYwLADAuml


Watch Video Solution

58. The diameter of a circle is 10.2 cm then its radius is …..

Cm .

A. 5.1 cm

B. 20.4 cm

C. 10.5 cm

D. 15.3 cm

Answer:

Watch Video Solution

59. If 'r' is the radius of a semi-circle then its perimeter is ......

https://dl.doubtnut.com/l/_6wIYwLADAuml
https://dl.doubtnut.com/l/_PCV92UrwTtt8
https://dl.doubtnut.com/l/_mvibep3n7pBV


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πr + 2r( or )r[π + 2]( or ) r
36

7

πr + r

πr + 3r

πr

60. Which of the following is correct ? 

(i) Maximum possible tangents that can be draw to a circle

from a point 'P' is 2 . 

(ii) The number of secants draw to a circle from a point at

ecterior is 2

https://dl.doubtnut.com/l/_mvibep3n7pBV
https://dl.doubtnut.com/l/_FpkMB9JMmIqy


A. (i) only

B. (ii) only

C. (i) and (ii)

D. neither (i) or (ii)

Answer:

Watch Video Solution

61. In the figure PT is a tangent to the circle with centre 'O'

then x = 

https://dl.doubtnut.com/l/_FpkMB9JMmIqy
https://dl.doubtnut.com/l/_11YI9ASSNYnX


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

148∘

58∘

52∘

42∘

https://dl.doubtnut.com/l/_11YI9ASSNYnX
https://dl.doubtnut.com/l/_P2YxocqO1sLe


62. Angle in a major segment is …..

A. an obtuse angle

B. an acute angle

C. right angle

D. none

Answer:

Watch Video Solution

63. In the figure PT is tangent drawn from P. If the radius is

7 cm and OP is 25 cm, then the length of the tangent is

https://dl.doubtnut.com/l/_P2YxocqO1sLe
https://dl.doubtnut.com/l/_OhxUBrBPhqaE


…………cm.

A. 18

B. 20

C. 24

D. 26

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OhxUBrBPhqaE


64. PQ is the chord of a circle . The tangent XR drawn at X

meets PQ at R when produced . If XR = 12 cm , PQ = x cm , OR

= (x-2) cm , the x = ……

A. 6 cm

B. 7 cm

C. 14 cm

D. 10 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OhxUBrBPhqaE
https://dl.doubtnut.com/l/_7XJ7uNQgU6P9


65. Choose the correct answer and give justification for

each . 

The angles between a tangent to a circle and the radius

draw at the point of contact is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

90∘

60∘

45∘

30∘

https://dl.doubtnut.com/l/_V3e4N4Gvffy0


66. Two circles intersect at A, B, PS, PT are two tangents

drawn from P which lies on AB to the two circles, then………..

A. 

B. 

C. 

D. 

PS = 2PT

PT = 2PS

PS = PT

PS ≠ PT

https://dl.doubtnut.com/l/_l6uxU0ofoszJ


Answer:

Watch Video Solution

67. In the figures AB is a diameter and Ac is chord of the

circle such that  . If DC is a tangent , then

 is ……

A. isosceles

B. equilateral

C. right angled

D. acute angled

Answer:

Watch Video Solution

∠BAC = 30∘

ΔBCD

https://dl.doubtnut.com/l/_l6uxU0ofoszJ
https://dl.doubtnut.com/l/_GFNAYcCxUfGQ


68. To draw a pair of tangents to a circle which are inclined

to each other at an angle of  it is required to draw the

tangents at the end points of two radii inclined at an angle

of ………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

60∘

30∘

60∘

90∘

120∘

https://dl.doubtnut.com/l/_GFNAYcCxUfGQ
https://dl.doubtnut.com/l/_mW978iQvvWfI
https://dl.doubtnut.com/l/_zdsKNfiWl3yG


69. If the radii of two concentric circles are 5 cm and 13 cm

then the length of the chord of one circle which is tangent

to the other circle is …..

A. 24 cm

B. 18 cm

C. 12 cm

D. 6 cm

Answer:

Watch Video Solution

70. If tangents PA and PB from a point P to a circle with

centre O are inclined to each other at angle of  , then110∘

https://dl.doubtnut.com/l/_zdsKNfiWl3yG
https://dl.doubtnut.com/l/_l2DbZJCwV6lJ


 is equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠POA

45∘

50∘

70∘

35∘

71. In a right triangle ABC, right angled at B , BC = 15 cm and

AB = 8 cm . A circle is inscribed in the traiangle ABC . The

radius of the circle is ……

A. 1 cm

https://dl.doubtnut.com/l/_l2DbZJCwV6lJ
https://dl.doubtnut.com/l/_4mkAL3xQnxMs


B. 3 cm

C. 5 cm

D. 2 cm

Answer:

Watch Video Solution

72. Three circles are drawn with the vertices of a traingle as

centres such that each circle touches the other two . If the

sides of the traiangle are 2 cm , 3 cm , 4 cm find the

diameter of the smallest circle .

A. 4 cm

B. 2 cm

https://dl.doubtnut.com/l/_4mkAL3xQnxMs
https://dl.doubtnut.com/l/_Ym3k1zEruo7W


C. 1 cm

D. 5 cm

Answer:

Watch Video Solution

73. A circle may have ........ parallel tangents utmost.

A. 10

B. 12

C. 9

D. 2

Answer:

https://dl.doubtnut.com/l/_Ym3k1zEruo7W
https://dl.doubtnut.com/l/_9WEikyHzjsub


Watch Video Solution

74. A tangent to a circle intersects it in ………. Point (s) .

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_9WEikyHzjsub
https://dl.doubtnut.com/l/_L7iKLdr87EQS


75. A line segment joining any point on a circle is called its

……

A. diameter

B. tangent

C. chord

D. none

Answer:

Watch Video Solution

76. A line which intersects the given circle at two distinct

points is called a ……

https://dl.doubtnut.com/l/_7gjRFkSRXASd
https://dl.doubtnut.com/l/_TYGBNz8t8w8g


A. tangent

B. secant

C. circle

D. centre

Answer:

Watch Video Solution

77. The common point to a tangent and a circle is called …..

A. point of contact

B. circle

C. tangent

https://dl.doubtnut.com/l/_TYGBNz8t8w8g
https://dl.doubtnut.com/l/_a9U5lRdXsi59


D. none

Answer:

Watch Video Solution

78. Angle between the tangent and radius drawn through

the point of contact is ……

A. 

B. 

C. 

D. 

Answer:

100∘

70∘

80∘

90∘

https://dl.doubtnut.com/l/_a9U5lRdXsi59
https://dl.doubtnut.com/l/_2ZA5ujXeep3q


Watch Video Solution

79. The circumference of a circle is 100 cm . The side of a

square inscribed in the circle is ….. Cm .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

π

5
√2

π

50
√2

π

50√2

https://dl.doubtnut.com/l/_2ZA5ujXeep3q
https://dl.doubtnut.com/l/_9lfdBLxXiYpv


80. The area of a square inscribed in a circle of radius 8 cm

is ………  .

A. 118

B. 129

C. 160

D. 128

Answer:

Watch Video Solution

cm2

81. The area of a circle that can be inscrinbed in a square of

side 6 cm is ……

https://dl.doubtnut.com/l/_951COqbI5rNm
https://dl.doubtnut.com/l/_NynZnIHG8ViP


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

9π

12π

120π

82. The perimeter of a quadrant of a circle of radius  cm

is ………cm

A. 9.5

B. 12.5

7
2

https://dl.doubtnut.com/l/_NynZnIHG8ViP
https://dl.doubtnut.com/l/_gYhXs9i6CR8X


C. 10.5

D. 2

Answer:

Watch Video Solution

83. The number of tangents at one point of a circle is …..

A. 1

B. 2

C. 3

D. 10

Answer:

https://dl.doubtnut.com/l/_gYhXs9i6CR8X
https://dl.doubtnut.com/l/_HxE3rK6s8guz


Watch Video Solution

84. Number of tangents to a circle which are parallel to a

secant are ……

A. 1

B. 10

C. 9

D. 2

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_HxE3rK6s8guz
https://dl.doubtnut.com/l/_C08sibvbGp9f


85. ……….tangent can be drawn from a point inside a circle .

A. No

B. 1

C. 4

D. None

Answer:

Watch Video Solution

86. A line which is perpendicular to the radius of the circle

through the point of contact is called a ………

A. secant

https://dl.doubtnut.com/l/_cyQpIgKOKV9t
https://dl.doubtnut.com/l/_J3JNVVExHiLT


B. tangent

C. chord

D. none

Answer:

Watch Video Solution

87. The number of tangents draw at the end of the

diameter is …………

A. parallel

B. 0

C. perpendicular

https://dl.doubtnut.com/l/_J3JNVVExHiLT
https://dl.doubtnut.com/l/_bwRKJLMiKvIr


D. none

Answer:

Watch Video Solution

88. The tangents drawn at the end point of radius is ……..

A. 0

B. parallel

C. perpendicular

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_bwRKJLMiKvIr
https://dl.doubtnut.com/l/_6ACUeHTle5fw


89. Tangents drawn from an exterior point of a circle

are………

A. not equal

B. parallel

C. equal

D. none

Answer:

Watch Video Solution

90. A secant meets a circle in …..points .

https://dl.doubtnut.com/l/_6ACUeHTle5fw
https://dl.doubtnut.com/l/_X3gvPjp0SidY
https://dl.doubtnut.com/l/_dbFaBjBhCQ2X


A. 2

B. 4

C. 3

D. 1

Answer:

Watch Video Solution

91. A tangent meets a circle in……. Points .

A. 10

B. 9

C. 7

https://dl.doubtnut.com/l/_dbFaBjBhCQ2X
https://dl.doubtnut.com/l/_qJfZtkSRgWxl


D. 1

Answer:

Watch Video Solution

92. Sum of the central angles in a circle is …………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

360∘

300∘

180∘

110∘

https://dl.doubtnut.com/l/_qJfZtkSRgWxl
https://dl.doubtnut.com/l/_8HBKk1tbORdg


93. Angle in a semi -circle at the centre is …….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

100∘

180∘

200∘

80∘

https://dl.doubtnut.com/l/_8HBKk1tbORdg
https://dl.doubtnut.com/l/_8ygpAX3kUDV4


94. From the figure, x=…………..cm.

A. 8.4

B. 8.8

C. 4.8

D. 4

https://dl.doubtnut.com/l/_j26xwCdZxgeg


Answer:

Watch Video Solution

95. Angle in a semi-circle is………

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

80∘

90∘

100∘

110∘

https://dl.doubtnut.com/l/_j26xwCdZxgeg
https://dl.doubtnut.com/l/_kpt3OrPNtJn2
https://dl.doubtnut.com/l/_816XS1aCU0Hc


96. Number of tangents drawn to a circle is ………..

A. 1

B. 4

C. 3

D. infinite

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_816XS1aCU0Hc


97. In the figure, x= ……………..cm.

A. 5

B. 6

C. 8.2

D. 10

Answer:

https://dl.doubtnut.com/l/_cP5CelpvTxhE


Watch Video Solution

98. Angle in a minor segment is ……….

A. acute

B. 

C. obtuse

D. none

Answer:

Watch Video Solution

60∘

99. In a circle d = 10.2 cm , then r = ……………cm .

https://dl.doubtnut.com/l/_cP5CelpvTxhE
https://dl.doubtnut.com/l/_5y1XESBGLVA0
https://dl.doubtnut.com/l/_Y8JvUeoJqJxn


A. 4.1

B. 5.1

C. 4.6

D. 5.6

Answer:

Watch Video Solution

100. The longest chord in a circle is …………

A. diameter

B. radius

C. chords

https://dl.doubtnut.com/l/_Y8JvUeoJqJxn
https://dl.doubtnut.com/l/_UsXhLnXmCTf7


D. none

Answer:

Watch Video Solution

101. Circles having saem centre are called …….. Circles .

A. triangle

B. concentric

C. trapezium

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_UsXhLnXmCTf7
https://dl.doubtnut.com/l/_OXgtJjvLumxw


102. Circles having saem radii are ..

A. congruent

B. not congruent

C. only similar

D. none

Answer:

Watch Video Solution

103. Area of circle is ……. Sq . Units .

A. 
π

r2

https://dl.doubtnut.com/l/_OXgtJjvLumxw
https://dl.doubtnut.com/l/_xg7Hbvp2TOCZ
https://dl.doubtnut.com/l/_ke6TjYOrtriB


B. 

C. 

D. 

Answer:

Watch Video Solution

πr3

πr2

π2r2

104. The shaded portion represents ……..

A. minor segment

B. major segment

C. chord

D. none

https://dl.doubtnut.com/l/_ke6TjYOrtriB
https://dl.doubtnut.com/l/_GuXMd6tZNHkw


Answer:

Watch Video Solution

105. Area of semi-circle is ……….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πr2

π2r

πr2

2

πr

https://dl.doubtnut.com/l/_GuXMd6tZNHkw
https://dl.doubtnut.com/l/_NfBmcrYdFEgi
https://dl.doubtnut.com/l/_zqT4sFzZiuGX


106. Number of circles passing through 3 collinear points in

a plane is ………………

A. 1

B. 0

C. 9

D. 12

Answer:

Watch Video Solution

107. Sum of opposite angles in a cyclic quadrilateral is …………

A. 100∘

https://dl.doubtnut.com/l/_zqT4sFzZiuGX
https://dl.doubtnut.com/l/_49FqgaFzcPzt


B. 

C. 

D. 

Answer:

Watch Video Solution

180∘

190∘

200∘

108. Cyclic rhombus is a ……..

A. rhombus

B. parallelogram

C. triangle

D. none

https://dl.doubtnut.com/l/_49FqgaFzcPzt
https://dl.doubtnut.com/l/_dNumxpZDRfoD


Answer:

Watch Video Solution

109. In the figure, =…………..
∠BAC

https://dl.doubtnut.com/l/_dNumxpZDRfoD
https://dl.doubtnut.com/l/_Bqq9PwSSLJZg


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

90∘

70∘

30∘

110. Area of sector = ……….

A. 

B. 

C. lb

× πr2x ∘

360

× 2πr
x ∘

360

https://dl.doubtnut.com/l/_Bqq9PwSSLJZg
https://dl.doubtnut.com/l/_wKRbVjJuh1Ie


D. none

Answer:

Watch Video Solution

111. Area of ring = ………….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

π(R2 − r2)

π(R − r)

R2 − r2

π(R2 − r2 + 2r)

https://dl.doubtnut.com/l/_wKRbVjJuh1Ie
https://dl.doubtnut.com/l/_mT0YKTsweC1o


112. Side of a square is 4 cm , then A= …………. 

A. 64

B. 12

C. 16

D. 20

Answer:

Watch Video Solution

cm2

113. Diameter of a circle passes through …………

A. equal

https://dl.doubtnut.com/l/_mT0YKTsweC1o
https://dl.doubtnut.com/l/_elOsIg5XcKli
https://dl.doubtnut.com/l/_xXu7eyFGwU0k


B. point

C. centre

D. none

Answer:

Watch Video Solution

114. The shaded portion represents…………segment.

https://dl.doubtnut.com/l/_xXu7eyFGwU0k
https://dl.doubtnut.com/l/_Tl9nlfIbeLGj


A. major

B. minor

C. acute

D. none

Answer:

Watch Video Solution

115. Which of the following is a semicircle ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_Tl9nlfIbeLGj
https://dl.doubtnut.com/l/_WfaHxvxb5hmH


D. all

Answer:

Watch Video Solution

116. Angle in the same segment of the circle ……………

A. equal

B. not equal

C. none

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_WfaHxvxb5hmH
https://dl.doubtnut.com/l/_9xY3UOl3Yqds


117. In the figure,  =…………..


A. 

B. 

C. 

D. none

x ∘

30∘

110∘

60∘

https://dl.doubtnut.com/l/_9xY3UOl3Yqds
https://dl.doubtnut.com/l/_wrKHHE0jISY8


Answer:

Watch Video Solution

118. In the figure, x = ………………

A. 20∘

https://dl.doubtnut.com/l/_wrKHHE0jISY8
https://dl.doubtnut.com/l/_FH5srCvVjHZx


B. 

C. 

D. 

Answer:

Watch Video Solution

90∘

60∘

80∘

119. Area of triangle = ………….sq. units .

A. bh

B. 

C. 

D. none

bh
1

2

b + h

2

https://dl.doubtnut.com/l/_FH5srCvVjHZx
https://dl.doubtnut.com/l/_HiARAS0PnRYu


Answer:

Watch Video Solution

120. Area of square whose is 3 cm in ………….

A. 6

B. 12

C. 10

D. 9

Answer:

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_HiARAS0PnRYu
https://dl.doubtnut.com/l/_QaT7NYi75pu3
https://dl.doubtnut.com/l/_aok3ql7Wvwxb


121. Area of circle with radius r = …….. 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cm2

πr4

πr

πr2

π

2

122. The area of square is 49  then side is …….. Cm .

A. 12

B. 6

cm2

https://dl.doubtnut.com/l/_aok3ql7Wvwxb
https://dl.doubtnut.com/l/_Zm2raKmzlG3R


C. 8

D. 7

Answer:

Watch Video Solution

123. Angle made by minute hand in 1 m = …………..

A. 

B. 

C. 

D. none

Answer:

6∘

12∘

10∘

https://dl.doubtnut.com/l/_Zm2raKmzlG3R
https://dl.doubtnut.com/l/_tSXDIzHo303y


Watch Video Solution

124.  cm then area of sector = ………. 

A. 100.6

B. 102.66

C. 811.6

D. none

Answer:

Watch Video Solution

x ∘ = 60∘ , r = 14 cm2

125. Area of a regular hexagon whose side is 'a' cm is……………

https://dl.doubtnut.com/l/_tSXDIzHo303y
https://dl.doubtnut.com/l/_wTOxAe4m8LdL
https://dl.doubtnut.com/l/_y5JSMxOTj3rc


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

a26√3

4

a26√3

7

√3a26

7

126. Parallelogram circumscribing a circle is a ………………..

A. parallelogram

B. rhombus

C. circle

https://dl.doubtnut.com/l/_y5JSMxOTj3rc
https://dl.doubtnut.com/l/_V0nxG7d2dPUN


D. none

Answer:

Watch Video Solution

127. In the figure XY and X'Y' are two parallel tangents to a

circle with centre O and another tangent AB with point of

https://dl.doubtnut.com/l/_V0nxG7d2dPUN
https://dl.doubtnut.com/l/_jFCm7eO35Cxg


cantact C intersecting XY at A and X'Y' at B then `angle

AOB= 

A. 

B. 

C. 

D. 

Answer:

75∘

95∘

70∘

90∘

https://dl.doubtnut.com/l/_jFCm7eO35Cxg


Watch Video Solution

128. Choose the correct answer and give justification for

each . 

The angles between a tangent to a circle and the radius

draw at the point of contact is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

60∘

70∘

90∘

20∘

https://dl.doubtnut.com/l/_jFCm7eO35Cxg
https://dl.doubtnut.com/l/_5O52xcENhWjl


129. If AP and AQ are the two tangents of a circle with

centre 'O'. So that POQ =  then =……………….


A. 

B. 

C. 

110∘ ∠PAQ

70∘

60∘

65∘

https://dl.doubtnut.com/l/_lFXxFX6oGZxE


D. 

Answer:

Watch Video Solution

75∘

130. Area of circle interms of diameter is ………..

A. )/4`

B. 

C. )/14`

D. all

Answer:

Watch Video Solution

(πd2

πr2

(πd2

https://dl.doubtnut.com/l/_lFXxFX6oGZxE
https://dl.doubtnut.com/l/_3AQtJY0z9Yk2


131. In the figure AP , = 12 cm , PB = 16 cm and `pi=3 then

perimeter of shaded region is …………….. Cm . 

A. 51

B. 70

C. 58

D. 68

https://dl.doubtnut.com/l/_3AQtJY0z9Yk2
https://dl.doubtnut.com/l/_q0RVZJ75Vtqq


Answer:

Watch Video Solution

132. A bicycle wheel makes 75 revolutions per minute to

maintain a speed of 8.91 km per hour then diameter of the

wheel is ………… m .

A. 6.3

B. 0.63

C. 8.1

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_q0RVZJ75Vtqq
https://dl.doubtnut.com/l/_NRMnAoExEh78


133. Angle described by hour hand in 12 hoours is ……..

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

90∘

200∘

360∘

180∘

134. Each angle in a square is ……

A. 85∘

https://dl.doubtnut.com/l/_NRMnAoExEh78
https://dl.doubtnut.com/l/_XElNRxbRRbuR
https://dl.doubtnut.com/l/_MDTbfT4XWgAr


B. right angle

C. 

D. 

Answer:

Watch Video Solution

60∘

70∘

https://dl.doubtnut.com/l/_MDTbfT4XWgAr


135. In the figure, the area of shaded region is…………….. .


A. 74

B. 60

C. 82

cm2

https://dl.doubtnut.com/l/_sgQrB8553NJY


D. 42

Answer:

Watch Video Solution

136. Perimeter of semicircle is …………….. Units .

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

36r

7

r
18

7

r
9

17

https://dl.doubtnut.com/l/_sgQrB8553NJY
https://dl.doubtnut.com/l/_SQQ4IQO6wFyo


137. In the figure the relation among a, b and c is…………

A.  = 

B.  = 2b^2`

C.  = 

D. all

Answer:

c2 a2 + b2

c2 − a2

c2 + b2 a2

https://dl.doubtnut.com/l/_SQQ4IQO6wFyo
https://dl.doubtnut.com/l/_c3otQYjnOX8u


Watch Video Solution

138. In the figure, a =……………….

A. 

B. 

C. 

D. 

100∘

170∘

80∘

90∘

https://dl.doubtnut.com/l/_c3otQYjnOX8u
https://dl.doubtnut.com/l/_SlHh2boyJcgK


Answer:

Watch Video Solution

139. Perimeter of sectors = ……………….

A. l + 2r

B. l - r

C. l - 2r

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_SlHh2boyJcgK
https://dl.doubtnut.com/l/_gFIBYR5TU8o1
https://dl.doubtnut.com/l/_agfVxFpemzIi


140. The radius of a circle is doubled then its area becomes

……………….. Times.

A. 5

B. 4

C. 9

D. none

Answer:

Watch Video Solution

141. If two concentric circles, a chord of length 40 cm of

larger circle becomes a tangent to the smallor circle whose

radius is 15 cm. Find the radius of the larger circle.

https://dl.doubtnut.com/l/_agfVxFpemzIi
https://dl.doubtnut.com/l/_VW1RSSIAgiXB


Watch Video Solution

142. A chord of circle of radius 10 cm subtends a right angle

at the centre . Find the area of the corresponding : 

Minor segment

Watch Video Solution

143. Find the area of the shaded region in figure , where

ABCD is a square of side 10 cm .and semicircles are draw

https://dl.doubtnut.com/l/_VW1RSSIAgiXB
https://dl.doubtnut.com/l/_0wULt8Vd3OrX
https://dl.doubtnut.com/l/_C9MiceE0eoI6


with each side of the square as diameter (use ). 

Watch Video Solution

π = 3.14

144. Calculate the area of the desigred region in figure ,

common between the two quadrants of the circles of

https://dl.doubtnut.com/l/_C9MiceE0eoI6
https://dl.doubtnut.com/l/_SJw9onbVHKqQ


radius 10 cm each . (use ) 


Watch Video Solution

π = 3.14

145. If two tangents inclined at an angle of  are drawn

to a circle of radius 3 cm, then length of tangents is equal

to…………m.

60∘

https://dl.doubtnut.com/l/_SJw9onbVHKqQ
https://dl.doubtnut.com/l/_4uTYLVgcD8jt


A. 6

B. 

C. 3

D. 

Answer:

Watch Video Solution

3√3

3√3

4

146. A tangent to a circle is a line which …….. The

circleexactly at one point .

A. touches

B. 2

https://dl.doubtnut.com/l/_4uTYLVgcD8jt
https://dl.doubtnut.com/l/_UXVWkoNlGRfh


C. separates

D. none

Answer:

Watch Video Solution

147. In the figure, P is called ………….

A. secant

B. tangent

C. chord

https://dl.doubtnut.com/l/_UXVWkoNlGRfh
https://dl.doubtnut.com/l/_2fFWNpW4Jm21


D. none

Answer:

Watch Video Solution

148. In the figure, BC = ……………….cm.

A. 1.4

B. 2.3

C. 1.5

D. 2.5

https://dl.doubtnut.com/l/_2fFWNpW4Jm21
https://dl.doubtnut.com/l/_ABrhEis2ZsG2


Answer:

Watch Video Solution

149. The below figure represents……………..

A. isosceles triangle

B. rectangle

C. triangle

D. none

Answer:

https://dl.doubtnut.com/l/_ABrhEis2ZsG2
https://dl.doubtnut.com/l/_Jh62dDoRY3Hl


Watch Video Solution

150. ABCD is a cyclic quadrilateral then  = ……….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠A + ∠C

100∘

120∘

109∘

180∘

https://dl.doubtnut.com/l/_Jh62dDoRY3Hl
https://dl.doubtnut.com/l/_tnc1ejSSrL7C


151. In the fiugre, AB = 6.2 then CD = ……………..cm.

A. 5.2

B. 6.2

C. 8.2

D. none

https://dl.doubtnut.com/l/_J0ib6ecVwKCh


Answer:

Watch Video Solution

152. If raddi pf two concentric circle are 6 cm and 10 cm ,

then lngth of chord of the larger circle wchich is tangent to

other is ……….cm

A. 8 cm

B. 12 cm

C. 16 cm

D. 20 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_J0ib6ecVwKCh
https://dl.doubtnut.com/l/_wnGj5i45dinf


153. The length of the tangents to frome a point A to a

circle of radius 3 cm is 4 cm then the distance between A

and the centre to the circle is …..

A. 2 cm

B. 10 cm

C. 4 cm

D. 5 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_wnGj5i45dinf
https://dl.doubtnut.com/l/_8HMB33T1nzQN


154. Number of chords of a circle is ………..

Watch Video Solution

155. How many chords have in one circle.

Watch Video Solution

156. The longest chord in a circle is …………

Watch Video Solution

157. In a circle d = 10.2 cm , then r = ……………cm .

Watch Video Solution

https://dl.doubtnut.com/l/_SAy7ESdSn6VM
https://dl.doubtnut.com/l/_QVLZWyWG6k6Y
https://dl.doubtnut.com/l/_hsglpaXEcE6h
https://dl.doubtnut.com/l/_BMnNtaIzv989


https://dl.doubtnut.com/l/_BMnNtaIzv989

